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A A AL & 3,922,734 3,653,721 269,013
= 245,700
J| 41,972
< 63,502
Al 3,571,560
EE2sl=322d 441,568 437,806 3,762
T2 2el ¥ 22 441,568 437,806 3,762
ZE o032 ANdES 345,323 349,956 A4,633
201 Let24d] 4,000 0 4,000
01 At 22l 4,000 0 4,000
OALBAL ZSEA L HSISHY
2,000,000& 23] 4,000
202 044l 1,000 1,000 0
01 = LH o4 1l 1,000 1,000 0
S 802 500,000& »23| 1,000
401 AIEHIZL 2CHEI 320,323 292,056 28,267
01 A& Hl 320,323 292,056 28,267
Oll=3l2t 25 MRA XNSL3A
52,000 »344m' 52,288
Oll=zl2t 3T R0 HESA
43,600 459 .5m’ 20,035
Onlz3sa SH2LIHS F&4EH uAH
20,000,000& *1 20,000
Otl=sla A& FI) 20,000, 000& *1 20,000
Otlsla D =& uider Wx
19,600, 000& *54! 98,000
Ollz=zl 2t AYAE ELZSA
5,000, 000& *1 5,000
Oflzzlat 2T M 2LIEH HZLX
4,750,000& *4 4 19,000
Onlsslat AME (RN, =Y, S8, J1H, 8|
g) 30,000,000 =14l 30,000
Olflsalat AZHT EIAME EXSA
9,000, 000& *1 9,000
Oflzsala BT dyE ng2ded 3
M2 2 ZHEY 27,000,000 =14 27,000
oHzsgd s S 2+
10,000, 000&! *1 10,000
OUEEIZ et AT 2B A
10,000, 000& 14! 10,000
405 TtabH S| 20,000 41,700 A21,700
01 et EZFH S 20,000 41,700 A21,700
Oflzza HEHE 240013 7L
2,500,000 x4 4! 10,000
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Otlzsl @ 2odds 280 7¢
625,000& *8H 5,000
Otl=3l 2 dHl&HEl S F & M
5,000,000& =14 5,000
FERaoiss 2 SFF 96,245 87,850 8,395
101 14 dl 20,349 17,172 3,177
04 JIZHHZ2Z2XNESE S+ 20,349 17,172 3,177
Oflessl& FAZ2l(1Y) 19,987
a2 60,240 246 14,820
A2+l =& 7,530% *1.5%15A1 2t 1200 & 2,034
=== 60,2403 52 3,133
Ollz=zl2 =% M= & =2 &
60,2403 x2H »3 362
201 2et2d]| 54,546 49,328 5,218
01 At 2teltl 8,936 9,128 A192
OO0t & AN [HE 2R =2l
8,000 «5H 123|121 & 5,760
O&=Jl oz 48,0003 x124 & 576
Oget=gHl 2,600
02 2524l 45,610 40,200 5,410
OZHZE diter AZH|
1,300& x1602| E x 120 24,960
Oagotdae| it & Ag=2el X A2
100, 000& * 13| 100
OB HSBAE dHBA =2
100,000& 12 100
Otl=sl& bt A 5,000,000& =23l 10,000
Otl=sal2t AL AIEZH |Xbl 3,000
Otlssla 94 s 500,000& x53] 2,500
Otl=salz Xt DLAEI| HIIBAN =2
950,000& x13] 950
Ost=2stdl=al2 AE3l8l 4,000,000&*13] 4,000
206 M= Hl 21,350 21,350 0
01 =8l 21,350 21,350 0
Otz 228 ME FL(ELEE &N
g) 300,000& »12& 3,600
OJIAANE X228 Mg 2 600
O&EIINE RX22E Mg ¢
20,0002 1004 2,000
OXEAE RX22E Mg ¢
200,000& *302] 6,000
OSEANE X228 Mg ¢
350,000& »213] 7,350
OAAE RA22E Mg ¢
10,000& *60H 600
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22| B2 s 22| 1,126,538 760,093 366,445
2t2 X &dl & 22 595,376 310,000 285,376
22X Al S EH| 424,356 283,060 141,296
101 e1214| 4,106 1,560 2,546
04 JIZtHI22XNEE S 4,106 1,560 2,546
HRABAX HHEZ HE 24 HAXA(BSE
o1 102,630& *4H x103] 4,106
201 et 9| 25,450 19,500 5,950
01 AR 22l ] 600 600 0]
OuEMIZO2ZX Kot =E2HA =&
150,000 x4 2 J| 600
02 2224 24,850 18,900 5,950
O &ZR AIEEH SXH 350,000 *x253] 8,750
OUWEAIZ0I202ZX Al&EH SXH|
300,000 x123] 3,600
O2£ANES EAZ2H(5MA)
1,000,000 83| 8,000
OQUEAMIZOI2ZX XX =&3 A
500,000& x23| 1,000
O3IAXTHES AIEAH |G 700,000 53] 3,500
206 M = dl 8,800 8,000 800
01 X2 4| 8,800 8,000 800
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HUY NS=2EEH JIHREE )

50,0002 #435 1004 2 2,000
OBZX NS 22l HIMSB(LOBE 7g)
30,0002 *607H 1,800
OBFI =W OIABHEY el ®IITH2(LED
go De) 50,0002 * 1004 5,000
401 AIEHIL 2 THHI 386,000 254,000 132,000
01 Al 382,642 251,420 131,222
OYRARZX CCTV & X B A
50,000, 000! *38.92% 49,460
OLBZX SFA 1% THIBA
25,000, 000! *38.92% 24,730
OZ&% JI2S SMBA 6,000,0002 «98.92% 5,936
OZs2® BAFIE CCTV &7
50,000,000 *98.92% 49,460
ORB4 A LED BS DHBA
10,000, 000! *38.92% 9,892
OLe2TX 432 25717 1A
10,000, 000! 38.92% 9,892
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50,000,000 x98.92% 49,460
ONY L QESK OFALIRIY 24IHISM
40,000,000 *98.92% 39,568
O ZR 22 =4 A
10,000, 000 *98.92% 9,892
Oz 2183 22372 Z2A 1,000,000 =103l 10,000
O3YEx+U ==T2HEZ WA
5,000,000 x23| 10,000
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50,000,000 x98.92% 49,460
O2&X JI2s B3 Z2A 55,000,000& = 14! 55,000
03 Al&E 201 Y| 3,358 2,580 778
O &Z X CCTV & Xl = At
50,000,000 *1.08% 540
Ogd&2X st&EA I DM E A
25,000,000& x1.08% 270
O3l JI2E T MEA 64
OLstEA HAF=XE CCTV & X
50,000,000 *1.08% 540
OQuUEA SHEA LED S DHZA
10,000,000 *1.08% 108
O 93 22317 A
10,000,000 *1.08% 108
OLAFT 42 2LIA
10,000,000 *1.08% 108
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50,000,000 *1.08% 540
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OLEBTN 22 F& MY
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o 60,240% 246 14,820
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=g 60,2403 52 3,133
OZ&HIOHHA HE 2IEX JIZ2HIZZ2X
(1g) 26,042
=y 60,2403 246 14,820
A2+l =& 7,530 *1.5%15A1 2t 1200 & 2,034
Fed 60,2403 52 3,133
s 60,2403 1. 5%67L 6,055
OFeHIota =% 292X JI2HIZEX
(1) 26,042
a4 60,240% 246 14,820
Al 2HR| =S 7,530 *1.5%15A| 2tx 1200 2 2,034
Fe=¢ 60,2403 52 3,133
e ] 60,2403 «1.5%67L 6,055
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500,000 = 1CH 500
OXZZHl & AMELLEHO0 FFHI
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1,500,000 «2J4 & 3,000
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206 M= Hl 23,300 22,100 1,200
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g, £ 5) 60,0002 1201 & 720
OMIIME P (XEI 2 95)
30,000&*10H*103 3,000
OZ&xY I (LD Z, =FS 2 8F)
50,0003 100 x10& 5,000
Ot &l X P (HAABEAM BER 2
8%) 100,000& 3 x 105 3,000
Ootao 8 A=sAZ(EE22I) 72<
180,000 6 & 1,080
ouAzdold SR8 22X &
500,000& »2X+3& 3,000
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10,000,000 *23| x1.08% 216
OZSHIOHIIE 32X =™ Ex=ZA
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At 5,000, 000& *23] *1.08% 108
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INR=PA oS
JoIE 25 e
stEs s il & 22
= - - SHE|
SN FHE - B(SA) - MEAY - BHES e
OEYEZ e DE L HA(HALY 2 720m
2) 2,500,000& *23| 5,000
OELYESZ MIILHl HIIE A2 (200kw)
500,000& x13] 500
OZEYHEZ K& Y +FTHIF ALEH =
X dl 200,000& = 10CH 2,000
OZEYUSH X L AMEY NaEFY 2
X gl 600,000& x2& 1,200
OEEIESA M) & ZTHAH AI&EEUISXY
1,000,000& x2& 2,000
OES2 =HIAE & NCCEH AIEEHIRX
u]l 1,000,000& x2& 2,000
OHEL=S2 WS CCTVEHl A& E Bl XY
350, 000& =8CH 2,800
202 Odl 2,400 2,400
01 = LH YI 2,400 2,400
OZEUs U £HHIIDT 2N +&
200,000& =123l 2,400
206 T2 HI 6,850 6,850
01 =8l 6,850 6,850
ORSEEE 424 IX¥EE FYU(BHAX, &
Z,00be s) 700,000& *13| 700
ORs2 BE8 ¥357Y 500,000 *23| 1,000
Os=s BE2 NsAH 250,000& 28 500
O24& ZFHIY 250,000 » 14! 250
OFAIY, 3t&EA HOYZ2E L FAES
200,000& »12& 2,400
OXIE8E &L #HEIA (NI, HER, Aol
g) 50,0003 1001 x4= 2,000
401 A& HI L 2T 30,000 30,000 0
01 A& HI 29,676 29,676 0
OSEEEA 282 2 33X &3 MH
ZHI A 10,000, 000& *98.92% 9,892
OZEEEZ == JIHAE HUIZA
10,000, 000& *98.92% 9,892
OSEHEZ =5 HIANE E=ZA
10,000, 000& *98.92% 9,892
03 AIE 2 0HHI 324 324 0
OHELESA 22284 ¥ XD I3 AH
ZHIZA 10,000,000& *1.08% 108
OZEEEZ == JIHAE HUIZA
10,000,000& *1.08% 108
OZEHEZ = MIANE E=ZSA
10,000,000& *1.08% 108
2RSS RFE2U =29 356,753 233,412 123,341
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B UARTLEH2Y 29
ool HRASBLFIRN 29 2 2o (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
SASSRFIEZ2U 29 & 22 356,753 233,412 123,341
g3 d3FHEU 29 356,753 233,412 123,341
101 2124 d| 47,349 29,248 18,101
04 JIZtHIZ2E2XNESE 47,349 29,248 18,101
OXSU HEZZ JI2tH 22 A 26,042
oSt 60,2403 x246 2 x1H 14,820
Al 2+ =& 7,530 x1.5x15A1 2t x 128 »1H 2,034
=524 60,240& x52 x1H 3,138
e = 60,2403 *1.5%67 »1H 6,055
Ostn iy T2 2 J|I2HH 22X 20,107
2 60,2403 *183 »1H 11,024
Al 2ERl =& 7,530 x1.5%15A| 2Fx 128 x1H 2,034
=4 60,2403 39 x1H 2,350
F2222 60,2403 *1.5%52 x1H 4,699
OFZU =8 H=&Y 66,630 *3Y *33|«2H 1,200
201 LEt2 Y| 96,304 104,124 N7T,820
01 A2 22| bl 34,900 26,620 8,280
Oget=2H| 5,000
O &L MA2 2= M
500& *15,00082*1& 7,500
OO0F2Z2 R A S &I 4,320
O=HHIOINH B2 S HowEa2)
50,000& *2H x363] 3,600
oLyl 50,0002 *882! 2% 8,800
0222 FY(HE L 2FLZF)
100, 000& x5 x2H 1,000
OAagotd 22| QI2tRE 200,000& x12& 2,400
Os2dI| A&l A2t E 190,000& = 12& 2,280
02 352494l 59,004 55,104 3,900
O332=2 2 HA 20,000
OF=ZU JINMH & AdE8 s 30,000
OAagAd 3L HA 600,000& *23| 1,200
OFEZU &.2 34029 1,500,000& 53] 7,500
OF=ZU 2218 KFH| 1,900& *20L+8& 304
03 S AIS L I 2,400 22,400 A 20,000
OFSAHIZ #HAI2HH| 1,200, 000& *23] 2,400
202 04| 1,000 0 1,000
01 2LHOHI 1,000 0 1,000
O T2 HX oLy 500,000& *23| 1,000
206 M = Hl 6,500 6,960 AN 460
01 & bl 6,500 6,960 N 460
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SA - FE - BI(EA) - NRAY - By 0l b SSa DS
O&AlY g8EsS ¢ 1,000,000& =14l 1,000
OEA2EE 7¥ 500, 000& *3=l 1,500
OstutHd #2230 + 5,000& =800 4,000
401 Al HIZ 2018 43,000 57,500 A 14,500
01 A& HI 43,000 57,500 214,500
OOFATAE HED| =AM 6,000,000 12 6,000
O&AlY 2l22d 7,000,000 =14 7,000
O8It S&E SEel SAH70m)
20,000,000 =14l 20,000
OX&dX 2% s A AHZ 5,000,000 14 5,000
OFAHAILE ety 2+E &X] 5,000,000 =14 5,000
405 TtobH S| 162,600 30,900 131,700
01 et ESFH S 162,600 30,900 131,700
OFEMELGI &HZ 2 2,600,000% *1CH 2,600
Ousa dute) 2¢ 3,000,000 «1CH 3,000
O&AIZ 2UH 7 (4921 X)
1,200, 000& *2CH 2,400
OFAAE 2ol &otd 2 5,000,000 204 10,000
OSAHAE Iets 72 1,500,000 *2CH 3,000
OgSHEH CE8 AZTEANH 7
200,000& »23CH 4,600
OFMEL 2 ADAIAE 7 60,000,000 *14) 60,000
OFMEg2 dngdad=s 7¥
5,000,000& *1H 5,000
Od2egEs2FHZU WVMEZZ Y ¢
1,200,000 *60SET 72,000
HEZSEE 1,591,695 1,822,782 A 231,087
= 245,700
J| 41,972
=) 63,502
Al 1,240,521
ZetFE ANEE 2 & 29 1,591,695 1,822,782 A 231,087
= 245,700
J| 41,972
=) 63,502
Al 1,240,521
JEFH & 22X B EH 248,082 278,151 A 30,069
101 1Al 83,196 69,978 13,218
04 JIZtHZ22 s+ 83,196 69,978 13,218
O NS &3 EH| 26,132
a@d 60,2403 x 1 »246L 14,820
TG 60,2403 »1H »522 3,133
Al 2tel =S 7,530 *1.5%15A1 2k« 128 2,034
SL2F+E 90,3603 »1H 682! 6,145
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